Physics 2A


Name_________________

Heat Engine Worksheet 

A heat engine goes through the cycle shown below. From the given values, verify the calculated value of T3, T4, Win, Qin, Wout, Qout, Wcycle, and e for 1 mole of an ideal gas. Turn this problem in at the beginning of the next lecture.
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Consider the PV diagram of Internal Combustion Engine
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Internal Combustion Engine Cycle (Continued)
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If the process 1



2 is isothermal, what is work done 

per mole of the gas?
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Example

Consider the PV diagram of Internal Combustion Engine
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Example

Internal Combustion Engine Cycle (Continued)

What are T2, T4, Win, Wout, Qout, and Wcycle? 



If the process 12 is isothermal, what is work done per mole of the gas?

Given Information

P1=1atm; T1=60oC; n=1 mole

P2=15atm; T3=2170oC

g=Cp/Cv=1.4 (ideal gas)

V2=V3; V1=V4














